4. Modern Art by Loosveld:
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40039 | 120cm ~-55cm 1120 cm
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(Rl 39 cm

- 122 -



40051 | 90cm =~ 80cm L% 40 cm
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40050 } Ocm ~=-90cm L7 26cm
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40023 148cm == 25cm 1120 cm




4003 175c:m == 58cm L7 16 cm

40022 142cm == 25cm L 16 cm
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Ly 30 cm
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40052 } 60cm ~=30cm L7 75cm
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40033 185(:m Y8 cm +-30cm L7 17 cm

40032 } 45cm == 102cm L7 18 cm




40013 40010 40012

;  75cm ;. 75cm ;  75cm

<= 15 cm <= 15 cm <= 15 cm
L 15 cm Ly 15cm Ly 15cm
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L 15 cm L 15 cm
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40035 - 40015
Y 75em 5-40"‘ 52 em

X
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%) 10 cm =~ 18 cm

L 18 cm

) 40057 Z 9@ N 40018 q 8@_ ) 40019
N 35 cm H 48 cm 1 55 cm
J 13 cm %) 15 cm == 15 cm

Ly 15 cm
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60 cm

28 cm

15 cm
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20074 1 110cm == 53cm L1737 cm

20081 148cm =1 41cm 127 cm




